direg

Kreg Workbench with Drawer

By Woodshop Diaries

Difficulty
Easy

Add a drawer and shelf to your Kreg Workbench frame to give you plenty of storage for all your screws and jigs! The perfect

workbench set up for small shop spaces with room for bulky items on the shelf below and smaller accessories in the drawer.

Page 1 of 12



direg

Tools Materials

Kreg Tools Wood Products

1 Plywood, 3/4", 4'x4' Sheet

Universal Bench with Hardwood Top 24" x 32"

1 Plywood,1/4",2'x2' Sheet

Hardware & Supplies

¥ Kreg® Pocket-Hole Jig 720PRO
. 18 3/4" Coarse Thread Pocket Hole Screws

18 11/4" Coarse Thread Pocket Hole Screws
Accu-Cut™ 10 11/4" Fine Thread Pocket Hole Screws
1 Pair 16" Ball Bearing Drawer Slides

1 Drawer Pull Or Knob

/ Accu-Cut™

Other Tools

Circular Saw

Page 2 of 12


https://www.kregtool.com/shop/workspace/bench-systems/universal-bench-with-hardwood-top-24-x-32/UBENCH-3224.html
https://www.kregtool.com/shop/pocket-hole-joinery/pocket-hole-jigs/kreg-pocket-hole-jig-720pro/KPHJ720PRO.html
https://www.kregtool.com/shop/cutting/circular-saw-cutting/accu-cut/KMA2700.html
https://www.kregtool.com/shop/cutting/circular-saw-cutting/rip-cut/KMA2685.html
https://www.kregtool.com/shop/workspace/bench-system-components/3-dual-locking-casters/PRS3090.html
https://www.kregtool.com/shop/cutting/circular-saw-cutting/accu-cut/KMA2700.html

Cut List & Parts

1

1

Bottom Shelf, 3/4" X191/2" X 27 1/2

Back Panel, 3/4" X 51/2" X 27 1/2"

Front Spacer Blocks , 3/4" X17/8" X 51/2"

Drawer Braces, 3/4" X 51/2" X 18 1/4"

Drawer Box Sides , 3/4" X 4" X 16"

Drawer Box Front/Back Pieces, 3/4" X 4" X 211/2"
Drawer Bottom , 1/4" X 16" X 23"

Drawer Front, 3/4" X 51/2" X 23 3/4"

(1) Back Panel
S1/2"x 27 1/2°

{1) Bottom Panel
191/27 x 27 142"

[(2) Drawer Braces
512" x 18 1/4"

(1) Drawer Front
51/2" %23 3/47

— (2) Drawer Box Front/Back
4" x 21 142"

(2) Front Spacer Blocks
17/8" x51/2"

g

Page 3 of 12

— (2) Drawer Box Sides
4" x 167

direg



direg

Directions

Assemble Workbench Frame
1 Assemble Kreg Workbench Frame according to directions included. Install adjustable feet OR caster wheels (I used caster
wheels so it's mobile!). Attach 24" x 32" Kreg workbench top leaving 2" overhang on all sides using 11/4" fine thread pocket

hole screws according to the instructions included.

Page 4 of 12



direg

Install Bottom Shelf
Cut a piece of 3/4" plywood to 19 1/2" x 27 1/2" using a circular saw and Kreg cutting guides (or cutting method of your

choosing). See cut diagram.
Place this shelf onto the bottom rails of the workbench and use 3/4" pocket hole screws through the bottom side (through

the pre drilled holes in the rails) to secure the plywood in place.

Install 3/4" plywood panel
using 3/4" pocket hole screws
from bottom side of railings

Page 5 of 12



direg

Install Back Panel
Cut a piece of 3/4" plywood to 51/2" x 27 1/2". Place this between the two back legs of the workbench frame so that it's

touching the top rail on the inside. Use 3/4" pocket hole screws through the predrilled holes in the legs to secure this pieces

in place.

Page 6 of 12



direg

Install Front Spacer Blocks
4 Cut two pieces of 3/4" plywood to 17/8" x 51/2". Install one piece on the inside of each front leg like shown so that they are
touching the top rail. Use 3/4" pocket holes through the predrilled holes in the legs to secure.

Install 3/4° plywood blocks for the inside
of each front leg and secure with 3/4°
pocket hole screws

Page 7 of 12



direg

Install Drawer Braces
5 Cut two pieces of 3/4" plywood to 51/2" x 18 1/4". Drill 3/4" pocket holes into the ends of each piece. Secure between the front

blocks and the back panel using 11/4" pocket hole screws. Make sure that these pieces are flush to the inside edge of the

front pieces and the back corners are square.

— Make sure the back corners
are square when attaching

Secure with 3/4" pocket holes
and 1 1/4" pocket hole screws

Page 8 of 12



direg

Install Drawer Slides
6 Install (1) pair of 16" ball bearing drawer slides onto the braces from the previous step so that they are 3/4" inset from the

front legs. Install these flush along the bottom edge of the drawer brace panels.

[ How to install drawer slides

Install 16" drawer slides 3/4"
inset from the from of the leg

Page 9 of 12


https://www.woodshopdiaries.com/how-to-install-drawers-with-side-mount-drawer-slides/

direg

Assemble Drawer Box
Cut two pieces of 3/4" plywood to 4" x 16" for the drawer box sides and two more pieces 4" x 211/2" for the drawer box front

and back. Drill 3/4" pocket holes into the ends of the 4" x 211/2" pieces and assemble between the two sides to create a box

using 11/4" pocket hole screws.

Then, cut a piece of 1/4" plywood to 16" x 23" and glue onto the bottom of the drawer box. You can add some brad nails or

screws to secure the panel while the glue dries.

¥ How to Assemble a Drawer Box

21102 //_T F\\w

Assermnble drawer box with 3747
pocket holes and 1 1/47 pocket
hole screws

Glue and nall (or screw) 1747
plywood bottom onto box

Page 10 of 12


https://www.woodshopdiaries.com/how-to-build-a-drawer-box/

direg

Install Drawer Box
Install drawer box onto slides so that the front of the box is 3/4" inset from the front of the legs and the top is approximately 1

1/4" below the top rail.

)

O

Page 11 of 12



direg

Attach Drawer Front

Cut a piece of 3/4" plywood to 51/2" x 23 3/4" for the drawer front. Attach this onto the drawer box using 11/4" screws through

the inside of the drawer box. Make sure to leave 1/8" gap on the sides and top around the drawer front. Once installed, add a
handle or knob as desired.

Attach drawer front with 1 1/4°
ccrews from the inside. Leave 1/8°
gap on top and both sides.

Page 12 of 12



	Kreg Workbench with Drawer
	Tools
	Kreg Tools
	Other Tools
	Materials
	Wood Products
	Hardware & Supplies
	Cut List & Parts
	Directions
	Assemble Workbench Frame
	Install Bottom Shelf
	Install Back Panel
	Install Front Spacer Blocks
	Install Drawer Braces
	Install Drawer Slides
	Assemble Drawer Box
	Install Drawer Box
	Attach Drawer Front



